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class Super {
Super() {
System.out.print('A');
}
Super(char x) {

System.out.print(x);

class Sub extends Super {

Sub() {
super(); // 0000 "A" 0O0
System.out.print('B"');

}

Sub(char x) {
this(); // Ssub() 000 OO0 - 'A" + 'B' [0
System.out.print(x); // 00 'D' OO

}

class Test {
public static void main(String[] args) {
Super sl = new Super('C"'); // Super(char) 000 - 00: C
Super s2 = new Sub('D'); // Sub(char) - this() - super() - A+ B + D

}
// 0000 CABD
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Sub(char x) {
this(); // 000 Sub() 0000 00 OO0
System.out.print(x); // 0 000 'D' OO
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this(); // - Sub()
this('X'); // - Sub(char x)
this (1, 2); // - Sub(int a, int b)
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class Parent {

int x = 100; // Parent 000 0000 OO x
Parent () {

this(500); // Parent(int x) [0
}

Parent(int x) {

this.x = x; // Parent[] xO0 0 00

int getX() {
return this.x; // Parent[ x OO



class Child extends Parent {

int x = 2000; // Child 0000 0000 OO0 x

Child() {
this (5000); // Child(int x) [0

Child(int x) {
this.x = x; // Child0d xO 0O OO

public static void main(String[] args) {
Child obj = new Child();
System.out.println(obj.getX()); // Parent getX() OO

}
// 0000 560
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this(5000); // 00 0000 OO0 Child(int x) QOO
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Child(int x) {

super(); // 0000 COoot
this.x = x; // Child[] x = 5000
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Parent() {

this(500); // Parent(int x) [0
}
Parent(int x) {

this.x = x; // Parent[] x = 500

e Parent[] x =500
e Child] x =5000

(1] obj.getX()0 [0 500(] [TT1T1?

getX()J Parent [T11] 111 (0
int getX() {

return this.x;
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Child(int x) {

this.x = x;
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Child(int x) {

super(); // 0000 000
this.x = x; // Childg x OO
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Parent() {
this(500); // 00 0000 00 000 00
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Parent(int x) {

this.x = x;
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super(); // - Parent()
- this(500); // - Parent(int x)
- this.x = 500; // - Parent[] x 0O 500 OO
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